Industry Survey: 31 December 2020

Defensive - Conservative Moderate - Aggressive
e e Syeas e e Syear
Alexander Forbes Conserver 9.29% 791% 7.85% Alexander Forbes Performer 9.37% 6.40% 721%
Sygnia Skeleton Balanced 40 8.70% 7.30% 7.20% Sygnia Skeleton Balanced 70 9.20% 5.90% 6.20%
Destiny Conservative 8.36% 5.63% 7.25% Coronation Balanced Plus 8.90% 4.80% 5.40%
Destiny Defensive 7.41% 621% 7.63% Destiny Market Enhanced 7.79% 4.44% 6.21%
Coronation Balanced Defensive 6.40% 5.90% 5.90% Ninety One Managed 7.60% 6.30% 6.50%
Sanlam Stable Bonus 6.00% 6.90% 7.50% Destiny Moderate 7.29% 4.64% 6.60%
Liberty Stable Growth 5.52% 4.99% 4.56% Stanlib/Liberty MM Moderate Balanced 7.16% 5.69% 6.05%
10X Low Equity 4.30% 4.80% 5.60% 10X High Equity 6.10% 4.60% 5.80%
Old Mutual Stable Growth 4.30% 4.20% 5.30% Satrix Enhanced Balanced Tracker 6.00% 3.80% 6.10%
Momentum Enhanced Factor 4 3.55% 4.36% 5.94% Discovery Balanced 5.22% 4.18% 4.79%
Allan Gray Stable 3.40% 4.30% 5.70% Allan Gray Balanced 3.60% 2.30% 4.80%
Momentum Default Lifestage Consolidator 1.56% 2.89% 5.16% Liberty Corporate Preferred Assets 3.51% 3.15% 3.76%
PSG Stable 1.37% 1.47% 4.54% Momentum Enhanced Factor 7 0.28% 2.24% 521%

MODERATE - AGGRESSIVE

DEFENSIVE - CONSERVATIVE
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